Easter Multiplication

Solve the following word problems.

The Easter Bunny has 123 baskets to fill. Each
basket needs 45 chocolate eggs. How many
chocolate eggs does the Easter Bunny need in
total?

A candy store sold 145 Easter chocolate bunnies
each day for 34 days. How many Easter chocolate
bunnies did they sell in total?

An Easter egg factory produces 256 chocolate
eggs per hour. If the factory operates for 12 hours
a day, how many chocolate eggs are produced in a
day?

A church is organizing an Easter egg hunt. They
plan to hide 315 eggs in each of 24 different
locations. How many eggs in total will they hide?

In an Easter event, there were 323 kids
participating. Each kid was given 15 Easter eggs.
How many Easter eggs were given out in total?

A farmer has 212 chickens that each lay 15 eggs a
week. How many eggs does the farmer collect in a
week?

A school is making Easter baskets for a charity. If
they make 134 baskets and each basket contains
25 items, how many items do they need in total?
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